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Multiple Choice Questions (MCQs)
(for 1%t Term)
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Topic — Numbers

Tick the correct standard numeral for Eight thousand fifty —

(a) 8000 (b) 8080 (c) 8008

Tick the correct expanded form for the number — '4658’

(a) 4000+600+50+8 (b) 4000+500+60+8 (c) 4000+60+5+8
Tick the greatest 2-digit number —

(d) 8050

(d) 4000+800

(@9 (b) 90 (c) 99 (d) 19
The number just after 7009 is —

(a) 7008 (b) 7500 (c) 7090 (d) 7010
One less than 3040 is —

(a) 3000 (b) 3014 (c) 3039 (d) 3041
Tick the numbers in which 3 is at hundreds place —

(a) 3487 (b) 1340 (c) 2354 (d) 8263
The greatest number formed by the digits — 3, 0, 8, 5is —

(a) 8035 (b) 8530 (c) 5380 (d) 3508
The smallest 4-digit number is —

(@) 11 (b) 1 (c) 10 (d) 1000

Tick the correct one —

(a) 9758 <1 8579 (b) 7598 (<] 7958 (c) 7598 =] 7958

Rough Work

(d) 5978[=] 8795

5, 946 tickets were sold on Friday and 5, 887 tickets on Saturday, on which day were more tickets

sold? Tick the correct one.

(a) 5946 5887 (b) 5946[=] 5887
Tick the correct ascending order —

(a) 2015, 1058, 9358, 7042 (b) 5492, 3813, 7600, 5290
Write the smallest 4-digit number using O and 5. These may be repeated. [ ]

(c) 5846[=] 5887

(a) 5000 (b) 5005 (c) 005 (d) 500
Predecessor of 8000 is —

(a) 8001 (b) 8010 (c) 7999 (d) 8002
The place value of 8 in 5480 is —

(a) 800 (b) 8 (c) 80 (d) 8000
In which number does the digit 8 have the greatest value?

(a) 1580 (b) 8350 (c) 9358 (d) 7852
The greatest even number formed by the digits 9, 0, 2, 8 is —

(a) 9820 (b) 8029 (c) 8209 (d) 2089
What is Nine thousand forty in standard form —

(a) 9014 (b) 4009 (c) 9040

Which of the following statement is true?

(a) 5000+60+8=5608 (b) 8000+90=8090 (c) 4000+700+4=4074
Successor of 3000+29 is

(a) 3020 (b) 3028 (c) 3029 (d) 3030
100 less than 9825 is —

(a) 9325 (b) 9925 (c) 9725 (d) 9625
Predecessor of 215-5is —

(a) 210 (b) 209 (c) 215 (d) 250

Tick the correct descending order —
(a) 4352, 8230, 1298, 2250 (b) 4002, 2050, 1100, 2739
The greatest 4-digit number is —

(c) 4231, 4123, 3421,

(a) 99 (b) 9999 (c) 900 (d) 9000
The next number in the sequence of 1005, 1110, 1015, 1020is[___] -

(a) 1015 (b) 1050 (c) 1025

Successor of XIX is

(&) XXIX (b) IX (c) XX

The correct roman numeral for 39 is ?

(&) XXX (b) XXXIX (c) XXXI

Topic - Addition

7000+2000 is —

(a) 7200 (b) 9000 (c) 2700
41+55 is —

(@) 90 (b) 96 (c) 86
200 more than 6430 is —

(a) 6830 (b) 6630 (c) 6730
5tens + 3tensis —

(@) 90 (b) 800 (c) 80
16+0+35is —

(a) 61 (b) 51 (c) 41

4 thousand + greatest 2 digit number —

(a) 4090 (b) 4099 (c) 4999

(c) 1500, 6794, 8030,

9999

3241
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0+2836 is —
(a) 2830 (b) O (c) 2836
A grocer sells 50 apples and 29 oranges. How many fruits does he sell in all?
(@) 79 (b) 59 (c) 25
TH HTO
5 37 5
+3 2 2 6
L 1
(a) 8016 (b) 8601 (c) 8061
Fill in the missing numbers [809+1532=__ ?  + 809]
(a) 1532 (b) 809 (o0
When 1685 is added to 2313, the digit in the tens place of the answer is
(a8 (b) 3 (©)9
If 1 is added to 3059, the answer will be —
(a) 3060 (b) 3095 (c) 3050
Fill the missing number [1249+[ 2 | = 1249]
(@0 (b) 1 (c) 1249
Of 100 is added to 4599 is
(a) 3599 (b) 4699 (c) 4000
What is the sum of 5900+11007?
(a) 7000 (b) 6800 (c) 5000
Reena had 385 marbles. Her brother had 215 marbles. How many marbles did they hav
(a) 283 (b) 485 (c) 600
If O is added to 3008, the answer will be —
(a) 3000 (b) 3008 (©o0

1200 people watched a movie on Monday and 1500 people watched it on Tuesday. How many people

in all watched the movie on the two days?

Rough work

ein all?

(a) 1200 (b) 1800 (c) 2700
If 1000 is added to 5000, the sum will be —
(a) 6000 (b) 5100 (c) 5010
When 4215 is added to 5324, the digit in the hundreds place of the answer is —
(@9 (b) 8 (€)5
Topic - Subtraction
49-23 is —
(a) 42 (b) 26 (c) 93
If 200 is subtracted from 800, the difference will be —
(a) 600 (b) 820 (c) 1000
Subtract 80 tens from 90 tens
(a) 980 (b) 100 (c) 890
In the number 7385, subtract the face value of 8 from its place value.
(a) 12 (b) 80 (c) 8
If O is subtracted from 6052, the difference will be —
(@0 (b) 6052 (c) 5260
Simplify — [420+350-70] and tick the correct answer
(a) 701 (b) 770 (c) 700
What is the missing digit ?
4 7 35
-1 23
3512
(@) 2 (b) 1 ()5
Fill the missing number [7500- =7000]
(a) 7000 (b) 500 (c) 7050
If 1 is subtracted from 4000, the difference will be —
(a) 3900 (b) 4001 (c) 3999
TH HTO
9 15 2
- 3 030
(a) 6531 (b) 6122 (c) 6222
Mr. Raj has Rs.9200 is the bank. He withdrew Rs.5000. How much money is left in the bank?
(a) Rs.9000 (b) Rs.4000 (c) Rs.4200
Subtract the smallest 3-digit number from the greatest 3-digit number
(a) 100 (b) 899 (c) 900
Simplify — [90-40+30] and tick the correct answer
(a) 80 (b) 20 (c) 10
A man earned Rs.7,860 a year. He spent Rs.3500. How much money did he save?
(a) 4360 (b) 5000 (c) 5300
What is the predecessor of 800-5007?
(a) 500 (b) 299 (c) 300
Find the difference of 20-207?
(a) 10 (b) 1 ()0
Difference of 2048 and O is —
(@1 (b) 2048 ()0
Subtract 2 tens from 5 tens —
(@) 20 (b) 50 (c) 30
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What must be added to 2000 to get 40007

(a) 2000 (b) 1000 (c) 300

The sum of two numbers is 2100. If one of the number is 100, find the other number?
@0 (b) 2000 (c) 100

Fill the correct number —38 -[_1 30

(@ 8 (b) 30 (c) 10

Th HT O

4 8 9 2

1 305

(a) 2984 (b) 3587 (c) 1320

Subtract the smallest 4-digit number from the greatest 4-digit number —
(a) 9999 (b) 1000 (c) 8999

Subtract 5657 and 3215 and tick the correct answer —

(a) 1567 (b) 2442 (c) 3251

If 100 is subtracted from 3800, the difference will be —

(a) 3700 (b) 100 (c) 3000

Topic — Multiplication

The multiplication form for 4+4+4 is[__]

(a) 12+4 (b) 5x4 (c) 3x4 (d) 2x4
15%6 equals
(@) 35 (b) 30 (c) 40 (d) 90
5x8 tens equals
(a) 400 (b) 40 (c) 4000 (d) 4
The product of (3x6) x 100 is
(a) 180 (b) 1800 (c) 18 (d) 18000
Which of the following shows the product [117] ?
(a) 11x8 (b) 14x9 (c) 12x4 (d) 13x9
12 threes are
(a) 48 (b) 12 (c) 36 (d)o
The first two multiplies of 7 is
(@721 (b) 14, 21 (c) 7,19
8 bikes. 2 people on each like. How many people?
(@) 8 (b) 32 (c) 24 (d) 16
Fill the correct number. 7x5=[1x7
(@7 (b) 5 (1 (d)o
Multiply 225%10
(a) 22500 (b) 2250 (c) 775 (d) 225
How many oranges are there in a dozen?
(a) 16 (b) 6 (c) 10 (d) 12
The addition form for 8x2 is
(a) 2+2+2 (b) 8+8 (c) 6+2 (d) 4+4
The product of (13x5) x0 is
(@0 (b) 1 (c) 65 (d)5
There are 200 fish in each tank. How many fish in 4 ranks?
(a) 80 (b) 800 (c) 600 (d) 8000
What is the product of the face value and its place value of 3 in 4983, is.
(@) 6 (b) 9 (c) 4 (d)5
2x4x3is
(a) 12 (b) 6 (c) 8 (d) 24
If we multiply O by any number, what product do we get?
@0 (b) 1 (c) same
Fill the correct number [_1x8=64
(@7 (b) 8 (©)9 (d) 6
HTO
72 8

X 5
(a) 3640 (b) 1240 (c) 6245 (d) none
Vivek has 56 ten-rupee notes. How much money does he have?
(a) 56 (b) 5600 (c) 560 (d) 506
The product of 12x10x40 is
(a) 48 (b) 480 (c) 40 (d) 4800
14%2 thousands are
(a) 28 thousands (b) 28 hundreds (c) 28 tens (d) 28 ones
20x300 equals
(a) 600 (b) 6000 (c) 60 (d) none
Number of days in 2 weeks.
(@7 (b) 365 (c) 12 (d) 14
How much do 8 pencils cost at Rs.12 each?
(a) 96 (b) 84 (c) 32 (d) none
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